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GENERAL STUDIES (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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. FAfeH ¥ IM-ARF FaA a9 qmriis ik afis &3 § afeq wRaddt #t W@iftea i)
(I® 150 w=at # i)

Underline the changes in the field of society and economy from the Rig Vedic to the
later Vedic period. (Answer in 150 words)

. <& wrd A w7 Aiied F o #§ Fih F ugal F AR W geama wifv)
(IW 150 w31 ¥ i)

Estimate the contribution of Pallavas of Kanchi for the development of art and
literature of South India. (Answer in 150 words)

. 9 BH-H v off % Fro wRa 91 ke TE gen? @ wRomel ) e iR
(W 150 w=ai # <ifv)

What were the events that led to the Quit India Movement? Point out its results.
(Answer in 150 words)

. U GaE % a9 W ghg o R7 9% Sweklatig el % i B % R 27
(FW 150 w3t # i)

What is sea surface temperature rise? How does it affect the formation of tropical
cyclones? (Answer in 150 words)

. B Wl A g H A8 AR AU gl B w@ o e & feemsia 39 H Rk %

s § 3R faaem fifg) (FW 150 w31 | €ifvw)
Why do large cities tend to attract more migrants than smaller towns? Discuss in
the light of conditions.in developing countries. (Answer in 150 words)
‘TEA HeA Y uREe w1 27 =arE Hifvm) (S| 150 w1 # @fsm)
What is the phenomenon of ‘cloudbursts’? Explain. (Answer in 150 words)

‘SHEiferhE T (SHmfes famer)’ i eraumen w0 {7 F0 7 3R W Rl B el suw ¥7

foeaR @ sag) (S| 150 vt # i)
What is the concept of a ‘demographic winter’? Is the world moving towards such a
situation? Elaborate. (Answer in 150 words)

. iR THMQ], A fAeasran T Afgen gnfeeRw F @9 o @ wE St FRiEn Y aiered ik
FEE § Al TWER B wE § @ b Aee 27 (FW 150 =t & ifvm)

Distinguish between gender equality, gender equity and women’s empowerment.
Why is it important to take gender concerns into account in programme design and

implementation? (Answer in 150 words)
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HHH TS~ v&1 areft Sfodt & e st faame 39 & a6 = &, frg simunfiis R
F aR # 97 w0 g9 B faa=m fifvm) (3W 150 w=ai # €ifSrm)
Intercaste marriages between castes which have socio-economic parity have
increased, to some extent, but this is less true of interreligious marriages. Discuss.
(Answer in 150 words)

o & wriforn-anfie gei @ fued # wwr, R-gwd @t @ fsh & % e fre TR @
wgam gaits 3w geme? (IW 150 w=a1 & difsw)

In dealing with socio-economic issues of development, what kind of collaboration
between government, NGOs and private sector would be most productive?

(Answer in 150 words)

"Erels e e e 3l g TE A TR wen 9 argwen 8 § Ipe SyaleREl ¥
FrO 3t ft 3% aga T A I fF s ) Roh i) (3W 250 w=a! # 4ifvw)

“Though the great Cholas are no more yet their name is still remembered with great
pride because of their highest achievements in the domain of art and architecture.”
Comment. (Answer in 250 words)

Tg FEAl FE a 3fa ¢ 6 vom fauge qoa: Aik-dgem #1 s w@a % fore o A

(3| 250 w3t # <ifore)
How far is it correct to say that the First World War was fought essentially for the
preservation of balance of power? (Answer in 250 words)

wRE # gedied 3R FER I F g F fog $eie B oleifie wifR wel a swer ofi?

(3| 250 w=at & difvw)
How far was the Industrial Revolution in England responsible for the decline of
handicrafts and cottage industries in India? (Answer in 250 words)

T 1 R e g § R froae o @ ) 9r wwa A wra-geen w6 g Fgend 2

(IW 250 wr=3i & <ifow)
The groundwater potential of the gangetic valley is on a serious decline. How may it
affect the food security of India? (Answer in 250 words)

A St it wRm Afefaw w0 §7 3 & 3@ 9 §7 (3| 250 w=1 # €if)

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words)

frt =1 27 AR H @t F e F & § it e w6 @ wm €

(I 250 =31 & difs)
What is a twister? Why are the majority of twisters observed in areas around the
Gulf of Mexico? (Answer in 250 words)
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5 X mmwﬁ?%ﬁﬁw%mmﬁa%?mﬁmmmwmw%?
(3W 250 w=a1 # i)

What is regional disparity? How does it differ from diversity? How serious is the
issue of regional disparity in India? (Answer in 250 words) 15

18. TuHal iR gt =@ B e Afedt F aeE, onft q@ dfud @ W ERuE g aiese
FHRTHH Hiars 1 g0 o T e @ ) feooh Hifvw) (IW 250 wr=at § i)
Despite comprehensive policies for equity and social justice, underprivileged
sections are not yet getting the full benefits of affirmative action envisaged by the
Constitution. Comment. (Answer in 250 words) 15

19. i 3 fifim o1 A goe, g @ afErika aRensdt g wed aw § gfe i R A
I ARETG Wl T4 IRER % 1Y Gl W H1 WG S 87 (IW 250 wr=a1 # i)

Globalization has increased urban migration by skilled, young, unmarried women
from various classes. How has this trend impacted upon their personal freedom and
relationship with family? (Answer in 250 words) 15

20. 3@ 3fma #1 FEATE e fifg 5 wwa f wieplos fafaum ok amnfes-enids
diaarstt % i T e gEhay g (IR 250 =41 & i)

Critically analyse the proposition that there is a high correlation between India’s
cultural diversities and socio-economic marginalities. (Answer in 250 words) 15
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